Dairy Enterprise Test

Ag. Science II
TRUE-FALSE
Circle the Correct Answer

1. T  F The chest of the dairy cow should be narrow, frail, and short bodied.

2. T  F The withers of the cow should be well rounded, showing prominent muscling.

3. T  F The fore udder attachment should be full and well-blended into the body floor.

4. T  F The neck of the cow should be thick and course to give the cow as much strength as possible.

5. T  F The loin area is just in front of the rump, but behind the chine area.

6. T  F Being more stylish throughout is a good phrase to describe what the hoof of the cow should look like.
7. T  F The rear udder of the cow should be bulging and loosely attached to the body to allow as much milking capacity as possible
8. T  F The hooks are the bones on each side of the tail head.
9. T  F The dew claw is just above the pastern which is just above the hoof.
10. T  F The cow with the best udder in the judging class will usually win the class.
11. A hormone used to eliminate cysts on ovaries is know as:

a. oxytocin

b. testosterone

c. estrogen

d. GNRH

12. A.I. is a commonly used practice in the dairy industry because:

a. for small herds, bulls are expensive

b. genetic improvement in the dairy herd is faster

c. bulls are dangerous

d. all of the above

13. For a calf to be born in a normal position, the first 3 things to emerge, in order, should be:

a. Two rear legs and rump

b. Head, neck and shoulder

c. Two front legs and head

d. Two rear legs and tail

14. The lactation period is:

a. The time from breeding until birth

b. From birth until the cow is rebred

c. From birth until the cow is turned dry

d. The time the cow is in “standing heat”

e. The time the cow is not giving milk

15. The average length of the gestation period for Holstein cattle is:

a. 13 months

b. 360 days

c. 305 days

d. 270 day

16. The lack of which nutrient will cause death of an animal the quickest?
a. Water

b. Minerals

c. Vitamins

d. Amino acids

e. None of the above

17. The major supporting structure of the udder is the:

a. Fore udder attachment

b. Rear udder attachment

c. Lateral suspensory ligament

d. Median suspensory ligament

18. What two minerals are essential for proper bone development

a. Iron and calcium

b. Iron and phosphorus

c. Calcium and phosphorus

d. iron and magnesium

19. If the milk bacteria counts are high, the first place to check for the cause is:

a. The water supply

b. Cows with fever

c. Dirty milking equipment

d. Subclinical mastitis
e. Mold in hay or silage

20. Which compartment of the dairy cow’s stomach is known as the “true stomach”?

a. Abomasums

b. Reticulum

c. Rumen

d. Omasum

e. Homasum

21. The hormone to cause milk letdown or bring a cow into labor is known as:

a. Adrenlin

b. Prostaglandin

c. Estrogen

d. Oxytocin

22. What is the best goal for a dairyman’s Somatic Cell Count:
a. 1,000,000

b. 750,000

c. 500,000

d. 100,000-200,000

23. At what age did a Holstein heifer become pregnant if she calves at 23 months of age?

a. 11

b. 12

c. 13

d. 14

e. 15

24. What is the most desirable body condition score for a cow producing 100# of milk?

a. 1

b. 1.5

c. 2

d. 2.5

e. 3

f. 5

25. When inseminating a dairy cow on the first service after calving, the most ideal site of semen deposition in the reproductive tract is in the:

a. Horns

b. Fallopian tubes

c. Vagina

d. Just past cervix

e. Uterus

26. In judging dairy cattle the area that carries the most weight on the scorecard is:

a. Dairy Character

b. Body Capacity

c. Feet and Legs

d. Udder

27. A major problem in dairy cattle is “twisted stomachs” or D.A.’s.  What does the letters D.A. stand for?

a. Deficient anatomy

b. Deficient abomasums

c. Digestible amount

d. Displaced abomasums

28. The first and largest stomach compartment is:

a. Omasum

b. Rumen

c. Reticulum

d. Abomasums

29. The type of energy available to the cow after 30% loss through the manure is:

a. Gross energy

b. Net energy

c. Total digestible energy

d. Digestible energy

30. The amount of water that a cow can consume on a hot summer day is:

a. 50 quarts

b. 50 gallons
c. 50 ounces

d. 50 pounds

31. Feeds that are high in fiber would include:

a. Ear corn with the cob

b. Haylage

c. Corn silage

d. Dry hay

e. Straw

f. All of the above

32. A good goal to shoot for in Holstein milk production and butter fat % is:

a. 20,000 # and 3.5%

b. 15,000 # and 3.0%

c. 25,000 # and 2.5%

d. 15.000 # and 5.0%

33. The term B.S. T.  means:

a. Balancing somatrophs

b. Basic somatropin

c. Bovine somatatropin

d. None of the above

34. Jerry T. Eatpuller, a dairy farmer in Edgertucky, Ohio cuts his hay early in May when it is in pre-bloom stage(no purple flowers).  His neighbor, John T. Bone, a beef farmer, cuts his hay at the end of May, after the hay has bloomed flowers.  Both are cutting their hay at optimum time for his production needs.  Explain how this can be true.
35.  Dale S. Odbuster, a young Williams County dairyman, cut and baled his alfalfa hay in            May and stored it in his barn.  It rained all but one day that month.  Should fire insurance be one of the things at the top of his priority list?  Yes or No.  Explain your answer.

